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1.  An event has 12 adults and 15 children.  The event planner wants to make each table identical, with the same amount of adults and children at each table. What is the greatest number of tables the planner can set up?



How many adults will be at each table? ______How many children will be at each table? _______
2. A P.E. teacher needs to divide 25 boy and 30 girls into teams, each with the same combination of male students and female students and nobody left out. What is the greatest number of teams that can be formed?


How many boys will be on each team? ______How many girls will be on each team? ________
3. Santa’s Elves are making Christmas Bags to hand out to the kids who visit Santa on Christmas Eve.  He has 360 Chocolate Candies, 270 Candy Canes, and 405 Gingerbread Men.  Santa told them that each back should have the same amount of each item in the bags.  What is the greatest number of bags the Elves could make?



[bookmark: _GoBack]How many chocolate candies? _________candy canes________and Gingerbread Men_________? In each bag?
4. Your SSC class is planning their Christmas Party.  They want to make sure they purchase the same amount of cupcakes as they do soda.  Soda comes in packages of 8 and cupcakes come in packages of 14.  How many packages of each item do you need to buy?


Soda_______________    Cupcakes____________
5.  Santa went to the storeroom to pick up stocking stuffers.  He found that Candy Canes were in packs of 24, chocolate candy was in packs of 32, and gingerbread men were in packs of 44.  He wants to make sure he has the same amount of each when he packs his sleigh.  How many packages of each does he need to ensure he has the same amount of each?




Candy Canes__________ Chocolate Candy_________ Gingerbread Men__________
